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( APPLIED STATISTICS )

1. Answer the following as directed : 1x7=7
oo TR TR Ted T
(@) What is price relative?
74 AR 2
(b} GRR = —T-.m x Total fertlhty rate

( Fill in the blank )

@Wﬁ=mx{bwm

(<9 B o7 )
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(2)

(c) What is time series?
e &2 |
Standard error plays & vital role in large
/ small sample theory.
( Choose the correct answer )
gl va AR TR / ga dfor o
|
g7l PR AR T
( o7 TEAD! iR Bfere )

(e) How is quantity indices obtained?
RIS THFRF (P faefiae 90 = ?
() What is meant by sample?
offtoref oA 6 Tom 2 |
(g What will be the form of trend equation

when trend is linear?

o HAELARTE R Sofes TReed T
$2'9?

(@

i iefly : 2x4=8
2. Answer the following questions briefly :

oo fra e v e e ?

(@ What is wholesale price index number
oAl T RS 82

(p) What are the four important methods of
measuring trend?

%ﬂﬂ%ﬁmmmﬁﬁqﬁwﬁﬁs%? ,4.

{ Continued )
A9/785

(3)

(c/ What is crude death rate?
S (crude) T9[ 21 & 2
“Index numbers are
barometers.” Explain briefly.

‘e WA L'F TR B g1 BT

(d)

economic

T 4T
3. Answer any three from the following
questions : 5x3=15

wers o 2aAd R e foftm T foan
(a) Define the following :
GeTo ﬁﬂf’iﬂ-’eﬁ iee] fudl

(i) Stratified sampling
BT A

(i) Systematic sampling
CRIGiEE )
fb) Discuss the various components of time
series.
P Rfn  ComEpTR A Tereris
(GO 4T | :
(¢) Find Laspeyre’s quantity index number
from the data given below :

weTs fil SYRIPR *f41 <ACRRE “AR P

felefa <91
i 2014 2018
&
on:;;%?dtty Price (¥) ) | Total value | Price (F) | Total value
79 (%) ¥ 5o (%) T 7

i 5 50 4 48

c 6 18 5 2
A9/785 { Turn Over )




(d) What

(4)

is life

table? Mention the

assumptions for construction of a life

table. Write two uses of life table. 1+2+2=5

S Sifere 1 2 WP e s F{R9eA G
Ferz o WP ORRR 0 JRER
Ty 390

fe) Prove that Fisher’s ideal index number
lies between Laspeyre’s and Paasche’s
index number.

eI 31 (7 =g e S[5HEE AT

(5)

Or/ o291

What is cost of living index number?
Discuss the steps involved in the
construction of cost of living index
number. From the data given below,
find out the cost of living index
number :

G Fifes T spaice B2 & fre
PR O (RIS ST R
SHCEDA F91 | @oT9 CYRIFT o1 &y frfiz a0

2+3+5=10

fIfeq TES AT | e
4. Answer the following questions : 10x3=30 SR
oo fwal W Gaq ﬁ’;" : - r Base Year Current Year
fa) Define Fisher’s index number. Why is Group e Sere
Fisher’s index number known as an 79 Price (€) | Quantity | Price (¢ ;
ideal index number? Calculate Fisher’s 79 (¥) AT W‘r'( : Q:’l%;;? o
index number from the following data : | [Wheat 10 50 ! -
2+2+6=10 (01 - 5
Remee e e [ 3@ 2 Bred Poies Rice 5 25 4
g e e I e I o SRR bIGe i
o] RFRa PpRE ey 4 Fuel and Lighting 8 10 3 8
Base Year Current Year AL
Comunodity fefe 7% bfere 77 Clothing 7 20 8 17
WG| Price ) | Quantity | Price®) | Quantity || |99
7 (?) AT 7 (F) =331 House Rent 9 30
a 6 50 10 ab 9 oI hy i
B D) 100 3 125 )
. : o 6 64 Miscellaneous 6 40 12 72
( Continued )| A9/785 { Turn Over )
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(6)

Discuss the moving average method.

(b)
Calculate five-yearly moving average
from the data given below : 4+6=10
o o S RN el F9 L o
SR |1 AR e T et 41 ¢
Year 2010 2011 2012 2013 2014
=Y
Sales (€ in '000) : 64 43 4-3 34 va |
! (000 GITS)
Year 2015 2016 2017 2018
=Y
Sales (¥ in "000) : 54 3-4 2:4 1-4
R (2000 5TS)
Or/ 94!
Fit a trend line to the following data by
the method of least square - :
wors g SRR AR s o RO [GIRE #
ot feEe 90 |
Year 2000 2001 2002 2003
EES
Profit (€ in lakh) 60 70 75 65
[ (a4 5FTS)
A9/785 ( Continued )

(7))
Year
2004 20
i 05 2006
Profit (¥ in lakh)
o1 (4114 537) 80 85 22
(y Calculate the estimated trend

values.

fite Temfooryes wm fdfy w1 | :

(ti} Also esti i
Gl mate the likely profit for

TS 2008 TG TN R TS
GEI
G 4 | 6+2+2=10

Wh.aF is fertility? Discuss the variou
fertility rates commonly used fi ;
mes}s.,urement of fertility. Explain tl'?r
fertility rate which is wused foe
C(.)mparison of fertility situations for t .
different regions. 2+::;=10

Tfqel 2 M TR T THIOR PR
$1CWW|%WWWWW®
TAXS (A1 T 2{ 1 A | .

A9 /785
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(9)

( 8)
Or / &Rl ( ECONOMETRIC METHODS )
1. Answer the following as directed : 1x7=7
; le survey
Discuss the advantage of samp i
over complete enumeration. Discuss the ‘ e IS ﬁ'ﬁ‘"ﬂ{ﬂ@ Tag
merits and demerits of systematic i {(ct) Heteroscedasticity means equal
sampling. 5427 variance.

( Write True or False )
[ faoferet e 2% STHePRT |
(w7 ¢ wrem feran )

sop{ e oo e SRR PRI
S T | TR g S TR, e
341 |

{b) In autocorrelation, OLS estimates are
no longer BLUE.

( Write True or False )

Jfry DTEES OLS Y Fefe 2 BLUE (2
T |

(= 1 e ferdt )

{c) There is perfect collinearity between X,

and X, when coefficient of correlation
Iy is
( Fill in the blank )
AfE SR BNF 1y I T =,
ol X, oF X, Wee 74 q=eftl s=oram
Wb
( &R 7% o )
0/785 (Continued) A9/'785 { Turn Over )
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(d) What is deseasonalized or seasonally

(e)

(g)

A9/785

(10 )

adjusted time series?

A9oS e fafEs T Wi &2 (a)
Regression models that take into
account time lags are known as
(dynamic / distributed lag) models.
( Choose the correct answer )
ST A [ ST R @) S (b)
_ (e / e coet) I w0 T
( W= Teenl qife Bferer )
Seasonal variations of a time series
occur
IS AP (T 741 T
(i) within a month (c)
qTEe fooge
(i) within a week
IR fooqe
{ii) within a year
GIZT ooqw ()
(iv) within a day
gfre foeTe
{ Choose the correct answer )
(% Teach 1fg Sferear )
What is multicollinearity?
it ST 2 A/ 785
{ Continued )

( 11 ) Rl

2. Answer the following questions briefly : 2x4=8

w1 firal epyearea oY Te firwy

What is dummy variable?

A8 v 1 9

Write the two most common sources of .
autocorrelation.

VI DTS O AR TG SRR
et fert |

Mention two features of Koyck
(ransformation model.

Koyck 4 sif{aéa =fZq 751 T2 Seary <1 |

Mention the methods of measuring
trend.

Beleif ce4E o7 rmfe Seay F4t |

{ Turn Over )




(12 )
3. Answer any three from the follow'?gs ¥
: g
questions : .
et i epear R e Rofibr et i
(@) Define the following :
e ey e f -
(i) Median lag
TNy ¢
(i) Mean lag
MR @&
(b) Meﬁtion the remedial measures when
multicollinearity is detected.
e ST (A T e TE
(c) Find out three-yearly moving average
from the data given below :
o e o1 A v o frrefay 0 ¢
Year 1995 1996 1997 1998 1999 2000
=
Value of 5 "
x variable 2 4 6 8
x BeTPq J4
Year 2001 2002 2003 2004 2005
=S
Val X
;‘ ::r?ible 14 16 18 20
x BeTPd
( Continued )
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(13 ) e

(d) Explain the consequences of auto-

correlation.

e[ TR AP T4 ] |

Explain the partial adjustment model.
(e ST NfECT A 9|

4. Answer the following questions : 10x3=30
Wl {1 epdeard Oeq fi
(1) Discuss the first-order autoregressive
wcheme, Eatablish the mean, variance
and covarinnce of the autocorrelated
disturbance model. A4+6=10

AL 0 e 4 e A e T v 1 M (A R
4] | ufern TTEe Sfan vered Wi, WP
w1 HegFEd fAdT 4 |

Or/ 9<q1

What is heteroscedasticity? What are
the consequences of using OLS in
presence of heteroscedasticity? How
does one detect heteroscedasticity?
2+5+3=10

o faoferer &7 Ry fofer a9Ime OLS
qqze] Teee 57 Rew Roferel o g9
(TR A 2

{ Turmn Over )




( 14 )

{p) Briefly discuss the principle of Least
Square Method (LSM) of trend fitting in
a time series. Using this principle, fit a
trend line and find the estimated trend
values from the data given below : 4+6=10

G RG] m@%ﬂ%ﬁﬁﬂﬁﬁ@@ﬁﬁf
oS! T SRl T 1 €2 Tafed RIS
wad A a1 e Yt Sl sig T4 SF
opeifod faeffare weprpe @

2005 2000 2007 2008 2009

Year
CLE
Rice productiort
(000 quintals) * 97 105 115 70 76
v R ]
(7000 F25FE)
Year 2010 2011 2012 2013
759
Rice production
(000 quintals) 95 90 107 82
51T SR
(*000 F2HE)
or/ 9%
Explain briefly the various reasons for
the problem of multicollinearity. What
are the consequences of multi-
collinearity? 5+5=10
ol ST ST vl (A TR TP
v 1 | AR RIS geerrE [ 2
A9/785 ( Continued )

(c)

/000/785

( 15 )

E‘xplain the Koyck approach to
distributed lag models, Also explain the
adaptive expectation model, [s there any
similarity ~ between  the
expectation model and Koyck maocdel? If

so, what is thelr similarity? 44+l +1=10

adaptive

fAefde e S Koyt NAHED A e |
T T L LA O T T
iU grere W Kayole SEa e s
LRI BRI EIE R

Qr / WYN|

What s dummy variable trap? How can
we overcome it? What are the uses of
2+3+5=10

S e sy (0 sl cacas 2R AR

fumy varinble?
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